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- ME{ E % ouT H b-2 HDLCP Fw b i & JE{T E % ouT N F-26 HDLP 3w m =
1 B e a4 45 00 34.00 56,00 16 S e 53 55 108 19.00  89.00
2 G EM a5 45 91 33.00 5800 7 TH M= 50 65 115 26,00 89,00
3 R 9 42 81 18.00  63.00 | ME A 51 59 110 19,00 91,00
4 §lE HE a5 47 92 25,00 67.00 19 M EET 62 62 124 16,00 108.00
5 g @5 43 45 88 2000 6800 FE M EA 66 60 126 36,00 90.00
§ Bl EE a5 44 92 23.00  69.00 FE ME —iA 54 46 100 22.00 7800
7 EHE W A7 46 93 24.00 69.00 EE EE B— 51 47 98 2100 77.00
8 Lpy BIE 45 45 90 20,00 70.00 RE GE A 56 55 111 35.00 76,00
9 8 i 43 43 86 16.00 70.00 EE LR 2 47 42 89 17,00  72.00
10 B =R 46 47 93 23.00  70.00 FE RE E 43 50 93 2200 71.00
N mE 5— 46 50 96 26,00 70.00 AE HE 8B 51 54 105 25.00  80.00
12 BE 48 42 90 18.00 7200 FE LW 53 52 53 105 35.00  70.00
13 #8 F= 42 46 88 16,00 7200 T #E == 44 51 95 30,00 6500
14 BHE B 52 39 91 18,00 73.00
15 MHE ET 47 44 91 18.00 7300
16 o WE 58 52 110 36,00  74.00
17 S 49 54 103 .00 75.00
18 LE B 54 45 99 23.00 76.00
19 BE RS 43 51 99 22.00 77.00
0 HE E 53 50 103 2500 7800
2 mE E— 49 46 95 17.00 7800
22 53 58 109 3.00 7800
73 BY NF 49 48 97 18.00  79.00
24 R &S 58 45 103 23,00 8000
5 BE 2 47 51 98 1700  B1.00
36 T EEER 51 56 107 26,00  81.00
77 EH 28 59 45 104 2200 8200
it IR 49 49 98 16,00 8200
29 mR & 46 55 101 19,00 8200
0 HE W 55 44 99 16,00 83.00
1 HE 49 52 101 17.00 8400
12 BE B 52 49 101 16.00 8500
13 =F %3 54 53 107 2,00 86.00
30 WO @ 50 52 102 16.00 8600
35 ANT  ERES 54 54 108 21,00 87.00




